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- AR FOMEHOALY 60,000,0008x 14} = 60,000
coasg
- AFR FOMBHAAY 60,000,0008x 14} = 60,000
o QPAES
- AR FOMEHOIALY 60,000,0008x 14 = 60,000
olfad
- AFR FOMBHAAY 50,000,0008Ix 14} = 50,000
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JARSIOHEEH]  2+:(2400) FEH L XIS ASI NS &F: (2410) KIS oH e Mg : (2417) AR 2EAAY NIAIES: (220) RER ALY [ErSHsS|[eR:EY]

4 N oow oo &0 = 8 A & p %
JBHMIEE MM = e B = A
o=
- AR FRBEAAY 50,000,0008Ix 14! = 50,000
o &) o
- A2 FRMEHIAH 50,000,000&x14Al = 50,000
o2
- AR ME AN 50,000,000& x14&) = 50,000
SMHIS
- AR MBI EHOIALY 40,000,000&x14l = 40,000
o MRS
- 2anE FRMESHIANA 40,000,000&x14l = 40,000
oHEIS
- A2 FRMEHIAH 40,000,000&x14A = 40,000
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Z:(2000) AFRIOHEEHI 2:(2400) FEHSL XIS ALSIOHE &F: (2410) KISoH Mg : (2417) AR 2EAAY NIAIES: (220) RER ALY [ErSHsS|[eR:EY]

. = I R u o = p] ES
I opa N AIAIE 2 L AN

ol Cos

- A2 FOIMESHOAY 40,000,000&x1Aa = 40,000
SEY==

- AP F0IMEHOANY 40,000,000&x14a! = 40,000
oHAUS

- AR FUMEHAAY 40,000,000&x141 = 40,000
olNE&S

- AR FUMEEHOAY 40,000,000 x141 = 40,000
cg=s

- AR FUMEHAAY 40,000,000&x141 = 40,000
S

- AL FOEHAAY 40,000,000&x14a! = 40,000
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BOIALR] A AIEE: (220) KA ALY [dPEes] (e He]

JAFSIOHERH]  2H:(2400) =EHL XS AR NS &F: (2410) KIS oH e MIgt: (2417) A7 2 H 2l
2 = ¥ oEd | oy 5
ol & o oo & = ) x
BHHIE. MIMIE = o & o =5 A Y
= 8 7 2,532,975 2,343,103 189,872
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